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M. Use correct word for each sentence. 

because and but

1. Armin have an eraser    a scissors in his pencil 
case. 

2. Jean always with Connie and Sasha   when 
recess, only Jean and Connie are together.

3. Chris lost his pencils during recess time. He have a 
complete set of stationery    not eraser.

4. Mir  Faiz eat their lunch together at the canteen. 

5. Sasha has a scissor    she lost it. 
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N. Rearrange the words to form correct sentences. 

Do youhave an ?eraser

Ain dress Misswearing isred

blue Where Aina’s ispencil

pen Chris losthis black

?
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